Different elasticities for life exp. 70 and assoc. cohort dist.
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Capital/wealth-to—output ratio Frame: 1/4



Supply and demand: ¢ = 0.5, v = 1.00
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Capital/wealth-to—output ratio Frame: 2/4



Supply and demand: ¢ = 0.5, v = 1.00
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Supply and demand: ¢ = 0.5, v = 1.00
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Capital/wealth-to—output ratio Frame: 2/4



Supply and demand: ¢ = 0.5, v = 1.00

o
- —
i
c
2 ES
=1 -
] o
S i
5}
=
[=%
[}
hel
S
gz 38 4
@ H
c i
s
=
[=%
[+
o
—
-
= -
S 4
k]
o
=4
%
©
£ ~
2 o
o} i
=
8 Supply capital: life exp. 65y, cohorts 65y —— Supply capital: life exp. 65y, cohorts 80y
o — —— Demand for capital —— Supply capital: life exp. 80y, cohorts 80y
[ T T T T T 1
0 1 2 3 4 5 6

Capital/wealth-to—output ratio Frame: 2/4



Supply and demand: ¢ = 1.0, v = 1.00
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Capital/wealth-to—output ratio Frame: 3/4



Supply and demand: ¢ = 1.0, v = 1.00
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Supply and demand: ¢ = 1.0, v = 1.00
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Capital/wealth-to—output ratio Frame: 3/4



Supply and demand: ¢ = 1.0, v = 1.00
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Capital/wealth-to—output ratio Frame: 3/4



Assets, consumption, wages and bequests, life exp. 70
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Attachments

m R files
m supplydemandgraphs.R
m demographyplots.Rdata
m Frame 1
m supplyanddemandelasticities_ky.pdf
m Frame 2
m supplyanddemand_sig05-1.pdf
m supplyanddemand_sig05-2.pdf
m supplyanddemand_sig05-3.pdf
m supplyanddemand_sig05-4.pdf
m Frame 3
m supplyanddemand_sigl0-1.pdf
m supplyanddemand_sigl0-2.pdf
m supplyanddemand_sigl0-3.pdf
m supplyanddemand_sigl0-4.pdf
m Frame 4
m profiles_le70_sigl0.pdf
m Latex source file
m supply_demand_figures_nu100_ky.tex



rm(list=ls())
# remember to change \ to /
dir <- "/Users/espen/Dropbox/research/global_economy/model101/"
#dir <- "C:/Users/dbackus/Documents/Papers/BCH/model/steady_state"
setwd(dir) 


mergefiles <- function(filename){
  load(file = "demographygraph_nu150.RData")
  supplyKnu150  <- supplyK
  supplyKYnu150 <- supplyKY
  demandKYnu150 <- demandKY
  wachnu150     <- wach  
  Rnu150 <- R

  load(file = "demographygraph_nu100.RData")
  Rnu100 <- R
  supplyKnu100  <- supplyK
  supplyKYnu100 <- supplyKY
  demandKYnu100 <- demandKY
  wachnu100     <- wach
  
  load(file = "demographygraph_nu067.RData")
  Rnu067 <- R
  supplyKnu067  <- supplyK
  supplyKYnu067 <- supplyKY
  demandKYnu067 <- demandKY
  wachnu067     <- wach  

  {save(Rnu067,supplyKYnu067,demandKYnu067,wachnu067,
        Rnu100,supplyKYnu100,demandKYnu100,wachnu100,
        Rnu150,supplyKYnu150,demandKYnu150,wachnu150,file=filename)}

}

filename <- "demographyplots.Rdata"

mergefiles(filename)

load(file=filename)

# Different shades of blue and red
blue.pal <- colorRampPalette(c("blue", "white"))
blue.cols <- blue.pal(n=6)[1:5]
red.pal <- colorRampPalette(c("red", "white"))
red.cols <- red.pal(n=6)[1:5]
green.pal <- colorRampPalette(c("green", "white"))
green.cols <- green.pal(n=6)[1:5]


########################################################
# Plot 1: supply and demand, different elasticities

plot(supplyKYnu150[,3,3,1],Rnu150, xlab="Capital/wealth-to-output ratio",ylab="Marginal product of capital net of depreciation",lwd=3.0,type="l",ylim=c(1, 1.1), xlim=c(1,5),col=blue.cols[1],axes=F)

lines(supplyKYnu150[,3,3,3],Rnu150,lwd=3.0,col=blue.cols[5])
lines(demandKYnu150[,3,3,1],Rnu150,lwd=3.0,col=red.cols[1])
lines(demandKYnu067[,3,3,1],Rnu067,lwd=3.0,col=red.cols[5])
axis(1)
axis(2)
legend("bottomleft",legend = c("Supply of capital: sigma = 0.5","Demand for capital: nu = 1.50","Supply of capital: sigma = 2.0","Demand for capital: nu = 0.67"), cex=0.75,lwd=2.0,lty=c(1,1,1,1,1),col=c(blue.cols[1],red.cols[1],blue.cols[5],red.cols[5]),ncol=2,bty="n")

dev.print(device=pdf, "supplyanddemandelasticities_ky.pdf")



########################################################
# Plot 2: supply and demand, different elasticities

# Plot 2.1
plot(supplyKYnu100[,2,2,1],Rnu100, xlab="Capital/wealth-to-output ratio",ylab="Marginal product of capital net of depreciation",lwd=3.0,type="l",ylim=c(1, 1.1), xlim=c(0,6),col=blue.cols[1],axes=F)
lines(demandKYnu100[,2,2,1],Rnu100,lwd=3.0,col=red.cols[1])
axis(1)
axis(2)
legend("bottomleft",legend = c("Supply capital: life exp. 65y, cohorts 65y","Demand for capital:cohorts 65y"), cex=0.75,lwd=2.0,lty=c(1,1,1,1,1),col=c(blue.cols[1],red.cols[1]),ncol=1,bty="n")
dev.print(device=pdf, "supplyanddemand_sig05-1.pdf")

# Plot 2.2
plot(supplyKYnu100[,2,2,1],Rnu100, xlab="Capital/wealth-to-output ratio",ylab="Marginal product of capital net of depreciation",lwd=3.0,type="l",ylim=c(1, 1.1), xlim=c(0,6),col=blue.cols[1],axes=F)
lines(demandKYnu100[,2,2,1],Rnu100,lwd=3.0,col=red.cols[1])

lines(supplyKYnu100[,5,2,1],Rnu100,lwd=3.0,col=blue.cols[1])
axis(1)
axis(2)
legend("bottomleft",legend = c("Supply capital: life exp. 65y, cohorts 65y","Demand for capital:cohorts 65y","Supply capital: life exp. 80y, cohorts 65y"), cex=0.75,lwd=2.0,lty=c(1,1,1,1,1),col=c(blue.cols[3],red.cols[1],blue.cols[1]),ncol=1,bty="n")
dev.print(device=pdf, "supplyanddemand_sig05-2.pdf")

# Plot 2.3
plot(supplyKYnu100[,2,2,1],Rnu100, xlab="Capital/wealth-to-output ratio",ylab="Marginal product of capital net of depreciation",lwd=3.0,type="l",ylim=c(1, 1.1), xlim=c(0,6),col=blue.cols[5],axes=F)
lines(demandKYnu100[,2,2,1],Rnu100,lwd=3.0,col=red.cols[1])

lines(supplyKYnu100[,5,5,1],Rnu100,lwd=3.0,col=blue.cols[1])
lines(supplyKYnu100[,5,2,1],Rnu100,lwd=3.0,col=blue.cols[3])
axis(1)
axis(2)
legend("bottomleft",legend = c("Supply capital: life exp. 65y, cohorts 65y","Demand for capital","Supply capital: life exp. 80y, cohorts 65y","Supply capital: life exp. 80y, cohorts 80y"), cex=0.75,lwd=2.0,lty=c(1,1,1,1),col=c(blue.cols[5],red.cols[1],blue.cols[3],blue.cols[1]),ncol=2,bty="n")
dev.print(device=pdf, "supplyanddemand_sig05-3.pdf")

# Plot 2.4
plot(supplyKYnu100[,2,2,1],Rnu100, xlab="Capital/wealth-to-output ratio",ylab="Marginal product of capital net of depreciation",lwd=3.0,type="l",ylim=c(1, 1.1), xlim=c(0,6),col=blue.cols[5],axes=F)
lines(demandKYnu100[,2,2,1],Rnu100,lwd=3.0,col=red.cols[1])

lines(supplyKYnu100[,5,5,1],Rnu100,lwd=3.0,col=blue.cols[1])
lines(supplyKYnu100[,2,5,1],Rnu100,lwd=3.0,col=blue.cols[3])
axis(1)
axis(2)
legend("bottomleft",legend = c("Supply capital: life exp. 65y, cohorts 65y","Demand for capital","Supply capital: life exp. 65y, cohorts 80y","Supply capital: life exp. 80y, cohorts 80y"), cex=0.75,lwd=2.0,lty=c(1,1,1,1),col=c(blue.cols[5],red.cols[1],blue.cols[3],blue.cols[1]),ncol=2,bty="n")
dev.print(device=pdf, "supplyanddemand_sig05-4.pdf")


########################################################
# Plot 3: supply and demand, different elasticities

# sigctr <- 2 is sigma = 1.0
sigctr <- 2  

# Plot 3.1
plot(supplyKYnu100[,2,2,sigctr],Rnu100, xlab="Capital/wealth-to-output ratio",ylab="Marginal product of capital net of depreciation",lwd=3.0,type="l",ylim=c(1, 1.1), xlim=c(0,6),col=blue.cols[1],axes=F)
lines(demandKYnu100[,2,2,sigctr],Rnu100,lwd=3.0,col=red.cols[1])
axis(1)
axis(2)
legend("bottomleft",legend = c("Supply capital: life exp. 65y, cohorts 65y","Demand for capital:cohorts 65y"), cex=0.75,lwd=2.0,lty=c(1,1,1,1,1),col=c(blue.cols[1],red.cols[1]),ncol=1,bty="n")
dev.print(device=pdf, "supplyanddemand_sig10-1.pdf")

# Plot 3.2
plot(supplyKYnu100[,2,2,sigctr],Rnu100, xlab="Capital/wealth-to-output ratio",ylab="Marginal product of capital net of depreciation",lwd=3.0,type="l",ylim=c(1, 1.1), xlim=c(0,6),col=blue.cols[1],axes=F)
lines(demandKYnu100[,2,2,sigctr],Rnu100,lwd=3.0,col=red.cols[1])

lines(supplyKYnu100[,5,2,sigctr],Rnu100,lwd=3.0,col=blue.cols[1])
axis(1)
axis(2)
legend("bottomleft",legend = c("Supply capital: life exp. 65y, cohorts 65y","Demand for capital:cohorts 65y","Supply capital: life exp. 80y, cohorts 65y"), cex=0.75,lwd=2.0,lty=c(1,1,1,1,1),col=c(blue.cols[3],red.cols[1],blue.cols[1]),ncol=1,bty="n")
dev.print(device=pdf, "supplyanddemand_sig10-2.pdf")

# Plot 3.3
plot(supplyKYnu100[,2,2,sigctr],Rnu100, xlab="Capital/wealth-to-output ratio",ylab="Marginal product of capital net of depreciation",lwd=3.0,type="l",ylim=c(1, 1.1), xlim=c(0,6),col=blue.cols[5],axes=F)
lines(demandKYnu100[,2,2,sigctr],Rnu100,lwd=3.0,col=red.cols[1])

lines(supplyKYnu100[,5,5,sigctr],Rnu100,lwd=3.0,col=blue.cols[1])
lines(supplyKYnu100[,5,2,sigctr],Rnu100,lwd=3.0,col=blue.cols[3])
axis(1)
axis(2)
legend("bottomleft",legend = c("Supply capital: life exp. 65y, cohorts 65y","Demand for capital","Supply capital: life exp. 80y, cohorts 65y","Supply capital: life exp. 80y, cohorts 80y"), cex=0.75,lwd=2.0,lty=c(1,1,1,1),col=c(blue.cols[5],red.cols[1],blue.cols[3],blue.cols[1]),ncol=2,bty="n")
dev.print(device=pdf, "supplyanddemand_sig10-3.pdf")

# Plot 3.4
plot(supplyKYnu100[,2,2,sigctr],Rnu100, xlab="Capital/wealth-to-output ratio",ylab="Marginal product of capital net of depreciation",lwd=3.0,type="l",ylim=c(1, 1.1), xlim=c(0,6),col=blue.cols[5],axes=F)
lines(demandKYnu100[,2,2,sigctr],Rnu100,lwd=3.0,col=red.cols[1])

lines(supplyKYnu100[,5,5,sigctr],Rnu100,lwd=3.0,col=blue.cols[1])
lines(supplyKYnu100[,2,5,sigctr],Rnu100,lwd=3.0,col=blue.cols[3])
axis(1)
axis(2)
legend("bottomleft",legend = c("Supply capital: life exp. 65y, cohorts 65y","Demand for capital","Supply capital: life exp. 65y, cohorts 80y","Supply capital: life exp. 80y, cohorts 80y"), cex=0.75,lwd=2.0,lty=c(1,1,1,1),col=c(blue.cols[5],red.cols[1],blue.cols[3],blue.cols[1]),ncol=2,bty="n")
dev.print(device=pdf, "supplyanddemand_sig10-4.pdf")


########################################################
# Plot 4: asset, consumption, wage and bequest profiles

plot(1:100,wachnu100$assets[3,3,2,], xlab="Age",ylab="Assets, consumption, wages and bequests",lwd=3.0,type="l", col=blue.cols[1],axes=F)
lines(1:100,wachnu100$consumption[3,3,2,],lwd=3.0,col=red.cols[1])
lines(1:100,wachnu100$wage[3,3,2,],lwd=3.0,col=green.cols[1])
lines(1:100,wachnu100$bequests[3,3,2,],lwd=3.0,col=blue.cols[4])
axis(1)
axis(2)
legend("topleft",legend = c("Assets","Consumption","Wages","Bequests"), cex=0.75,lwd=2.0,lty=c(1,1,1,1),col=c(blue.cols[1],red.cols[1],green.cols[1],blue.cols[4]),ncol=1,bty="n")
dev.print(device=pdf, "profiles_le70_sig10.pdf")
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demographyplots.Rdata
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\begin{document}

\begin{frame}{Different elasticities for life exp. 70 and assoc. cohort dist.}
\vspace{-1.0cm}
\begin{figure}
\centering
\includegraphics[width=.9\linewidth]{supplyanddemandelasticities_ky}
\end{figure}
\end{frame}

\begin{frame}{Supply and demand: $\sigma = 0.5$, $\nu = 1.00$}
\vspace{-1.0cm}
\only<1>{\begin{figure}
\centering
\includegraphics[width=.9\linewidth]{supplyanddemand_sig05-1}
\end{figure}}
\only<2>{\begin{figure}
\centering
\includegraphics[width=.9\linewidth]{supplyanddemand_sig05-2}
\end{figure}}
\only<3>{\begin{figure}
\centering
\includegraphics[width=.9\linewidth]{supplyanddemand_sig05-3}
\end{figure}}
\only<4>{\begin{figure}
\centering
\includegraphics[width=.9\linewidth]{supplyanddemand_sig05-4}
\end{figure}}
\end{frame}

\begin{frame}{Supply and demand: $\sigma = 1.0$, $\nu = 1.00$}
\vspace{-1.0cm}
\only<1>{\begin{figure}
\centering
\includegraphics[width=.9\linewidth]{supplyanddemand_sig10-1}
\end{figure}}
\only<2>{\begin{figure}
\centering
\includegraphics[width=.9\linewidth]{supplyanddemand_sig10-2}
\end{figure}}
\only<3>{\begin{figure}
\centering
\includegraphics[width=.9\linewidth]{supplyanddemand_sig10-3}
\end{figure}}
\only<4>{\begin{figure}
\centering
\includegraphics[width=.9\linewidth]{supplyanddemand_sig10-4}
\end{figure}}
\end{frame}

\begin{frame}{Assets, consumption, wages and bequests, life exp. 70}
\vspace{-1.0cm}
\begin{figure}
\centering
\includegraphics[width=.9\linewidth]{profiles_le70_sig10}
\end{figure}
\end{frame}


\appendix

\begin{frame}[t]{Attachments}
\begin{itemize}
\item R files
\begin{itemize}
\item
  \textattachfile{supplydemandgraphs.R}{supplydemandgraphs.R}
\item
  \textattachfile{demographyplots.Rdata}{demographyplots.Rdata}
\end{itemize}
\item Frame 1
\begin{itemize}
\item  \textattachfile{supplyanddemandelasticities_ky.pdf}{supplyanddemandelasticities\_ky.pdf}
\end{itemize}
\item Frame 2
\begin{itemize}
\item
  \textattachfile{supplyanddemand_sig05-1.pdf}{supplyanddemand\_sig05-1.pdf}
\item
  \textattachfile{supplyanddemand_sig05-2.pdf}{supplyanddemand\_sig05-2.pdf}
\item
  \textattachfile{supplyanddemand_sig05-3.pdf}{supplyanddemand\_sig05-3.pdf}
\item
  \textattachfile{supplyanddemand_sig05-4.pdf}{supplyanddemand\_sig05-4.pdf}
\end{itemize}
\item Frame 3
\begin{itemize}
\item
  \textattachfile{supplyanddemand_sig10-1.pdf}{supplyanddemand\_sig10-1.pdf}
\item
  \textattachfile{supplyanddemand_sig10-2.pdf}{supplyanddemand\_sig10-2.pdf}
\item
  \textattachfile{supplyanddemand_sig10-3.pdf}{supplyanddemand\_sig10-3.pdf}
\item
  \textattachfile{supplyanddemand_sig10-4.pdf}{supplyanddemand\_sig10-4.pdf}
\end{itemize}
\item Frame 4
\begin{itemize}
\item  \textattachfile{profiles_le70_sig10.pdf}{profiles\_le70\_sig10.pdf}
\end{itemize}
\item Latex source file
\begin{itemize}
\item
  \textattachfile{supply_demand_figures_nu100_ky.tex}{supply\_demand\_figures\_nu100\_ky.tex}
\end{itemize}
\end{itemize}
\end{frame}
\end{document}
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